
1) Find the range of the following set of data:

10, -10, 0.8, 0.3, 18, -4, 18, 0.3

Answer: ____________

2)
Find the next three numbers in 
the sequence
45,50,150,155,465,470,1410__,__,__

Answer: ____________

3) Increase 76 by 2/19

Answer: ____________

4) (6 x 31) + (7 x 105)

Answer: ____________

5) 18/
17 ÷ 9/2

Answer: ____________

6) 18/
17 ÷ 9/2

Answer: ____________

7) Round 21.4212219 to 1 decimal places.

Answer: ____________

8) Round 25.6094520 to 6 decimal places.

Answer: ____________

9) Convert the following mixed number 
914/15 to an improper fraction.

Answer: ____________

10) 125.24 ÷ 12.4

Answer: ____________

11) Write 800000 in standard form.

Answer: ____________

12) Write 800000 in standard form.

Answer: ____________

13)
Find the next three numbers in 
the sequence
3,6,6,9,9,12,12__,__,__

Answer: ____________

14) (m-1)-6

Answer: ____________

15) 748.72 ÷ 39.2

Answer: ____________
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16) 48/12 ÷ 96/19

Answer: ____________

17) Round 21.7890111 to 6 significant 
figures.

Answer: ____________

18) Round 21.7890111 to 6 significant 
figures.

Answer: ____________

19) Round 21.7890111 to 6 significant 
figures.

Answer: ____________

20)

A B = 28
Find the Angle at side A.

Answer: ____________

21) 529 + 615

Answer: ____________

22) 62/15 x 81/2

Answer: ____________

23) Find the value of 'd' by completing 
the square of the following equation: 
2 + 4d + 4

Answer: ____________

24) b

a o c
Measure angle boa

Answer: ____________

25) 189 + (-378)

Answer: ____________

26)
Find the next three numbers in 
the sequence
64,68,272,276,1104,1108,4432__,__,__

Answer: ____________

27)

A = 63 B
Find the Angle at side B.

Answer: ____________

28)
29 Find Volume of 
                         Pentagonal Pyramid

21
21

Answer: ____________

29) 168.2 - 701.3

Answer: ____________

30) 05:16 am To 09:44 am

Answer: ____________
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31) (-6) x (-9)

Answer: ____________

32) 12 x 10

Answer: ____________

33) Round 12.63317 to the nearest 1000

Answer: ____________

34) Find area of 
rectangle having 
sides a = 948 cm 
and b = 937 cm

Answer: ____________

35) 23/8 x 117/9

Answer: ____________

36) Convert the following improper 
fraction 106/11 + 68/20 to a mixed 
number

Answer: ____________

37) Find the range of the following set of data:

0.2, 19, 0, 0.3, -17

Answer: ____________

38) Find the range of the following set of data:

0.2, 19, 0, 0.3, -17

Answer: ____________

39) (-793) - (-267)

Answer: ____________

40) Find perimeter of 
triangle
a = 104 m , b = 609 
m

Answer: ____________

41) Find perimeter of 
triangle
a = 104 m , b = 609 
m

Answer: ____________

42) 315 - 297.2

Answer: ____________

43) Decrease 201 by 3/67

Answer: ____________

44) (5-18)-19

Answer: ____________

45) 40 x 1000

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

June 19, 2018

Sr: 19062018-445
 

http://www.geekschool.co.uk


46) 741 + 792

Answer: ____________

47) Round 17.02084 to the nearest whole 
number.

Answer: ____________

48) 14 + 18 x 3 + 10

Answer: ____________

49) Round 24.7690749 to the nearest 100

Answer: ____________

50) 66 / 613

6-3

Answer: ____________

51) 14/
15 ÷ 6/17

Answer: ____________

52) 907.12 ÷ 39.1

Answer: ____________

53) 19/
4 ÷ 10

/9

Answer: ____________

54) 13   12/17 - 1   1/2

Answer: ____________

55)
28 Find Volume of 
               27       Cylinder

Answer: ____________

56) (9 x 75) + (3 x 97)

Answer: ____________

57) Round 25.23 to the nearest whole 
number.

Answer: ____________

58) (-342) ÷ 18

Answer: ____________

59) (-342) ÷ 18

Answer: ____________

60) Find the mode of the following set of data:

66, 66, 66, 66, 47, 47, 47, 47, 47, 
12, 12, 53, 53, 53, 53, 53, 53

Answer: ____________
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61) 199/15 ÷ 125/7

Answer: ____________

62) 4/12 + 13/1

Answer: ____________

63) 08:12 am To 12:12 pm

Answer: ____________

64) Convert the following mixed number 
84/17 to an improper fraction.

Answer: ____________

65) 224 ÷ 14

Answer: ____________

66) 658 - 472

Answer: ____________

67) Increase 279 by 2/93

Answer: ____________

68) 12/5 - 8/18

Answer: ____________

69) Find area of triangle
h = 822 ft, a = 987 
ft,
b = 989 ft, c = 991 ft

Answer: ____________

70) An amount was decreased by 6% to 
$25.00. Find the original amount.

Answer: ____________

71) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

72) Round 2.0484 to 2 significant figures.

Answer: ____________

73) (4 x 86) + (4 x 24)

Answer: ____________

74) Solve 6q2 - 14q - 16 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

75) 'What is the probability of rolling 
factors of 11.when rolling a dice

Answer: ____________
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76) 18 x (-7)

Answer: ____________

77) 4/17 + 17/19

Answer: ____________

78) 4/17 + 17/19

Answer: ____________

79) Solve 5j2 - 8j - 9 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

80)
22 Find Volume of 
         30               Triangular Pyramid

24 30
22

Answer: ____________

81) 11.2 x 44.7

Answer: ____________

82) 11.2 x 44.7

Answer: ____________

83) 982 - (-230)

Answer: ____________

84) A number was shared in the ratio 
48:24. The smaller share was 36. 
What was the larger amount?

Answer: ____________

85)
30 Find Volume of 
               30       Cylinder

Answer: ____________

86) Solve by factorising 
j2 - 7j - 8 = 0

Answer: ____________

87) Find the value of 's' by completing 
the square of the following equation: 
2 + 6s + 8

Answer: ____________

88) 365.3 + 527.3

Answer: ____________

89) Find area of 
rectangle having 
sides a = 998 ft 
and b = 984 ft

Answer: ____________

90) 9/65 of 130

Answer: ____________
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91) (-14) x 8

Answer: ____________

92) Find area of triangle
h = 493 ft, a = 755 
ft,
b = 926 ft, c = 961 ft

Answer: ____________

93) 725 + 702

Answer: ____________

94) An amount was decreased by 9.3% to 
$275.00. Find the original amount.

Answer: ____________

95) 10% of 74

Answer: ____________

96) Write 10 in standard form.

Answer: ____________

97) 26.4 x 31.4

Answer: ____________

98) 600 - (-369)

Answer: ____________

99) 563 - (-526)

Answer: ____________

100) 187 - (-562)

Answer: ____________

Total: ___ / 100

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

June 19, 2018

Sr: 19062018-445
 

http://www.geekschool.co.uk


Answers:

1) 28 2) 1415,4245,4250, 3) 84 4) 700018 5) 4/17 6) 4/17 7) 21.4

8) 25.609452 9) 149/15 10) 10.1 11) 8 x 105 12) 8 x 105 13) 15,15,18, 14) m6

15) 19.1 16) 266/531 17) 21.789 18) 21.789 19) 21.789 20) 152 21) 1144

22) 522/15 23) (d + 2)2 24) 157 25) -189 26) 4436,17744,17748, 27) 117 28) 7334.3951587108

29) -533.1 30) 04 Hours 28 Mins 31) 32) 120 33) 12.633 34) 888276cm 35) 2735/36

36) 1652/55 37) 36 38) 36 39) -526 40) 1322m 41) 1322m 42) 17.8

43) 192 44) 5342 45) 40000 46) 1533 47) 17 48) 49) 24.77

50) 622 51) 229/45 52) 23.2 53) 411/40 54) 127/34 55) 64126.189245075 56) 14500170

57) 25 58) -19 59) -19 60) 53 61) 1241/445 62) 131/3 63) 04 Hours 00 Mins

64) 140/17 65) 16 66) 186 67) 285 68) 143/45 69) 406479ft 70) $23.50

71) 1/6 72) 2 73) 1048640
74) q = 3.2 
or -0.8

75) 1/6 76) 77) 142/323

78) 142/323 79) j = 2.4 or -0.8 80) 1936 81) 500.64 82) 500.64 83) 1212 84) 72

85) 84823.001646924 86) j = 8 or -1 87) (s + 3)2 - 1 88) 892.6 89) 982032ft 90) 18 91)

92) 228259ft 93) 1427 94) $249.43 95) 7.4 96) 1 x 101 97) 828.96 98) 969

99) 1089 100) 749
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